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(2)

(b} The following tasks are required to be
performed on an assembly line with the

given precedence relationship and task
time specified below :

Task Task time (sec) Precedence
A 25 none

15 A

13 A

15 A

12 A

20 A B C D E

() For a 40-second cycle time, balance
the assembly line.

(i) What is the minimum number of
stations?

(i) What is the efficiency of the
balanced line?

Explain the difference between made-
to stock and made-to-order DProcesses,
Classify processes according to product
flow and type of customer order.

A mmanufacturer requires 1500 units
of o part annually for assembly.
Manufacturer can produce this at the
rate of 100 per day. Setup cost for each
product 1un s Rs 24. To hold one
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circumstances

acceptance

7. (a) How do control charts differ from
what

appropriate?

each
below :

(b) Fifteen samples of 50 observations

yield the information in the table

Sample No.

No. of defective

Sample No.
- No. of defective

ts for '
Is the

Determine the 3-sigma control limi
the percentage of defectives.
System under control?
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